275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a me L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952

Fax 519-650-3334

. . panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

CAB SKIRTS
International 9200
Included in the Kit:
1. Driverside cab skirt (See# 1inFigure1)  QTY1
2. Passenger side cab skirt (See# 1inFigure1)  QTY1
3. Driver side mounting bracket (See#2inFigure1)  QTY2
4. Passenger side mounting bracket (See#2inFigure1)  QTY2
5. Mounting Hardware Kit includes: QTY 1
Screw Phillips head 10x32x1/2” (See#3inFigure1)  QTYS
Washer flat #10 stainless steel (See# 4inFigure1)  QTY 16
Nylon lock nut #10-32 Stainless (See# 5in Figure1)  QTYS8

Figure 1:

Driver Side Pictured (left)

Page 1 of 3 00812717 07/2001



pDIETEﬂ{S‘ \M

Our Reputation Is Stainless!

PANNEAUX DE CABINE
International 9200
Liste des piéces:

1. Panneau de cabine, c6té gauche (#1, Image 1)
2. Panneau de cabine, coté droit (#1, Image 1)
3. Supports de cabine gauche (#2, Image 1)
4. Supports de cabine droit (#2, Image 1)

5. Ensemble de quincaillerie de fixation contenant:
Vis a téte Phillips 1032x1/2" (#3, Image 1)
Rondelles plates en acier inoxydable (#4, Image 1)
Contre-écrous nylon # 10-32 acier inoxydable  (#5, Image 1)

Image 1:

QTY 1
QTY 1
QTY?2
QTY?2
QTY 1
QTY$
QTY 16
QTY$

275 Industrial Road,
Cambridge, Ontario N3H 4R7
Tel. 519-884-8555

Toll Free 800-331-7952

Fax 519-650-3334

panelite.com « dietersaccessories.com
IATF16949 & 1ISO14001 REGISTERED SYSTEMS

Coté Conducteur Illustré (gauche)

Page 2 of 3 00812717

07/2001



pDIETEﬂ{S‘ \M

Our Reputation Is Stainless!

PANELES DE CABINA

275 Industrial Road,
Cambridge, Ontario N3H 4R7
Tel. 519-884-8555

Toll Free 800-331-7952

Fax 519-650-3334

panelite.com « dietersaccessories.com
IATF16949 & 1ISO14001 REGISTERED SYSTEMS

International 9200
Lista de Repuestos:
1. Panelcabinaizquierda (#1, Image 1) QTY1
2. Panel cabina derecha (#1, Image 1) QTY1
3. Soporte monaje cabina izqueierda (#2, Image 1) QTY?2
4. Soporte montaje cabina derecha (#2, Image 1) QTY2
5. Ensemble de quincaillerie de fixation contenant: QTY1
Tornillos cabeza Phillips 10 x 32 x 1/2"" (#3, Image 1) QTY 8
Arandela plana #10 acero inoxidable (#4, Image 1) QTY 16
Tuerca con Nylon #10-32 acero inoxidable (#5, Image 1) QTY 8
Imagen 1:
Diagrama de instalacion (piloto)
Page 3 of 3 00812717

07/2001



